Example1:
Write a program that simulates tossing of a die. 

Write a program that lets the user enter the results of 20 tosses. The output should be a summary of how many ones; twos and so on have appeared.

Example2:

Write a program to compute the weekly pay for each employee. You do not know the number of employees in advance. Each type of employee has its own code. Managers have a paycode1, hourly workers have pay code 2, commission workers have pay code 3 and pieceworkers have pay code 4. Use a switch structure to compute each employee’s pay, based on that employee’s pay code. Within the switch prompt the user to enter the appropriate facts your program needs to calculate each employee’s pay based on that employee’s pay code. 

A sample output may look like this:

Enter pay code (-1 to end): 3

Commission worker selected.

Enter gross weekly sales: 4000

Commission worker’s pay is $478

Enter pay code (-1 to end): 2

Hourly worker selected.

Etc.

Enter pay code (-1 to end):-1

Total number of managers paid: 0

Total number of hourly workers paid: 1

Etc.

